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1 Z8 PC  [System Specification 2
CPU : [INTEL] 2O{13XMICH i7-13700 HEEA >
(HE{20]|2 /2.10GHz/30MB/E2] =g
M/B : [MSI] MAG B760M EfA I (21EB760/M-ATX) 2
RAM : [Team Group] DDR5-4800 CL40 Elite Plus & H A 2l (32GB) *4EA 3
Total 128GB
SSD : [SK hynix] Platinum P41 M.2 NVMe 2280 [1TB TLC] 2
VGA : [GIGABYTE] GeForce RTX 4090 GAMING OC D6X 24GB X|O| M| % 2
POWER : [O}O| 22 YA Classic Il 1050W 80PLUS GOLD 230V EU E2 &8 5
(ATX/1050W)
COOLER : [3RSYS] Socoool RC1800 ARGB (&£ 2) 2
CASE : [BRAVOTEC] GUARDIAN 3100M V2 E}O|EF SEfA (HIEIR) 2
OS : [OtO|AZ2AZE] Windows 10 Home X-SAHE A& I{7| X|(FPP) 5
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